PROF : ATMANI NAJIB

Exercice :

Factoriser les expressions suivantes :
D (6x+3)—(x—4)(2x+1)

2) 4x? =16+ (2x+3) (x—2)

3) (2 —9) (2x+ 1) — (x—3) (2x+1)*

4)3(2x— 1)+ (x+2) (2 —4x)

Tronc commun Sciences BIOF

Factorisations : Exercice

5) (2x45)(2x—4) —x> +4

6) (x—3) (2x—1)* 4 (12 — 4x)

7) 1202 =34 (20 +1)?

8) (2x—2) —x2+1

Réponses exercice :
) (2x+1)(7—x)

2) (x—2)(6x+11)

3) (x—3)(2x+1)(—x+2)

4) (2x—1)(—2x—1)

5) (x—2)(3x+8)

6) (x—3)(2x—

3)(2x+1)

7) (2x41)(8x—2)

8) (x—1)(3x—

5)

Factorisations
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